

					Engineer's Estimate Ir		Ims Contr	Ims Contracting, LLC.		Heselton Construction		truction, Inc
Line	Number	Description	Unit	Quantity	Estimated Price		Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
1		MOBILIZATION	LS	1	\$200,000.00	\$200,000.00	\$330,000.00		\$59,000.00		\$130,000.00	
2	2101.502		EACH	51	\$350.00	\$17,850.00	\$400.00	\$20,400.00	\$415.00	\$21,165.00	\$450.00	\$22,950.00
3	2101.502		EACH	51	·	\$12,750.00	\$300.00	\$15,300.00	\$159.00	\$8,109.00	\$175.00	\$8,925.00
4		PAVEMENT MARKING REMOVAL	L F	26,720		\$22,712.00	\$0.75	\$20,040.00	\$0.75	\$20,040.00	\$0.75	\$20,040.00
5	 	PAVEMENT MARKING REMOVAL	S F	470		\$1,410.00	\$5.00	\$2,350.00	\$3.15	\$1,480.50	\$3.50	\$1,645.00
6	 	REPLACE VALVE BOX	EACH	48	·	\$43,200.00	\$800.00	\$38,400.00	\$890.00	\$42,720.00	\$2,150.00	\$103,200.00
7		REMOVE HYDRANT	EACH	7	\$1,250.00	\$8,750.00	\$1,000.00	\$7,000.00	\$655.00	\$4,585.00	\$500.00	\$3,500.00
8		REMOVE DRAINAGE STRUCTURE	EACH	22		\$13,200.00	\$1,000.00	\$22,000.00	\$995.00	\$21,890.00	\$400.00	\$8,800.00
9		SALVAGE SIGN TYPE C	EACH	22		\$1,430.00	\$100.00	\$2,200.00	\$42.30	\$930.60	\$45.00	\$990.00
10		SAWING BIT PAVEMENT (FULL DEPTH)	L F	15,560	·	\$38,900.00	\$0.01	\$155.60	\$2.35	\$36,566.00	\$2.00	\$31,120.00
11		REMOVE SEWER PIPE (STORM)	L F	946	-	\$14,190.00	\$20.00	\$18,920.00	\$17.60	\$16,649.60	\$9.00	\$8,514.00
12	 	REMOVE CURB & GUTTER	L F	9,493	\$4.00	\$37,972.00	\$7.00	\$66,451.00	\$5.85	\$55,534.05	\$10.00	\$94,930.00
13	 	REMOVE BITUMINOUS TRAIL	SY	54	·	\$1,080.00	\$7.00	\$378.00	\$10.75	\$580.50	\$15.00	\$810.00
14	 	REMOVE CONCRETE DRIVEWAY PAVEMENT	SY	869		\$13,035.00	\$7.00	\$6,083.00	\$9.30	\$8,081.70	\$9.00	\$7,821.00
15		REMOVE CONCRETE PAVEMENT (VALLEY GUTTER)	S Y	226		\$2,712.00	\$7.00	\$1,582.00	\$14.90	\$3,367.40	\$9.00	\$2,034.00
16		REMOVE BITUMINOUS DRIVEWAY PAVEMENT	S Y	1,839	·	\$12,873.00	\$6.00	\$11,034.00	\$9.30	\$17,102.70	\$9.00	\$16,551.00
17		REMOVE BITUMINOUS PAVEMENT	S Y	3,494	-	\$20,964.00	\$5.00	\$17,470.00	\$8.35	\$29,174.90	\$7.50	\$26,205.00
18		REMOVE CONCRETE WALK	S F	19,162	\$1.50	\$28,743.00	\$1.00	\$19,162.00	\$1.40	\$26,826.80	\$1.50	\$28,743.00
19	 	COMMON EXCAVATION (P)	CY	4,005	·	\$104,130.00	\$30.00	\$120,150.00	\$17.90	\$71,689.50	\$20.00	\$80,100.00
20	t	COMMON EMBANKMENT (CV) (P)	СҮ	188		\$3,948.00	\$0.01	\$1.88	\$15.75	\$2,961.00	\$27.00	\$5,076.00
21		STREET SWEEPER (WITH PICKUP BROOM)	HOUR	70		\$10,500.00	\$150.00	\$10,500.00	\$165.00	\$11,550.00	\$190.00	\$13,300.00
22	2130.523		MGAL	150	\$50.00	\$7,500.00	\$40.00	\$6,000.00	\$44.50	\$6,675.00	\$10.00	\$1,500.00
23	2211.509	AGGREGATE BASE CLASS 5	TON	3,490	\$20.00	\$69,800.00	\$30.00	\$104,700.00	\$29.50	\$102,955.00	\$25.00	\$87,250.00
24	2215.504	ULL DEPTH RECLAMATION	S Y	26,026	\$5.75	\$149,649.50	\$4.00	\$104,104.00	\$4.40	\$114,514.40	\$3.50	\$91,091.00
25	2231.604	BITUMINOUS PATCH TYPE SPECIAL 1	SY	3,238	\$30.00	\$97,140.00	\$45.00	\$145,710.00	\$42.00	\$135,996.00	\$24.00	\$77,712.00
26	2231.604	BITUMINOUS PATCH TYPE SPECIAL 2	SY	865	\$43.00	\$37,195.00	\$85.00	\$73,525.00	\$41.00	\$35,465.00	\$36.00	\$31,140.00
27	2232.504	MILL BITUMINOUS SURFACE (2.0")	S Y	14,528	\$1.60	\$23,244.80	\$2.00	\$29,056.00	\$2.10	\$30,508.80	\$2.25	\$32,688.00
28	2232.501	MILL BITUMINOUS SURFACE (1.0")"	S Y	2,613	\$1.60	\$4,180.80	\$2.00	\$5,226.00	\$1.85	\$4,834.05	\$2.00	\$5,226.00
29	2357.506	BITUMINOUS MATERIAL FOR TACK COAT	GAL	2,537	\$2.75	\$6,976.75	\$2.00	\$5,074.00	\$0.01	\$25.37	\$0.05	\$126.85
30	2360.509	TYPE SP 9.5 WEARING COURSE MIX (2,B)	TON	880	\$105.00	\$92,400.00	\$80.00	\$70,400.00	\$82.50	\$72,600.00	\$88.00	\$77,440.00
31	2360.509	TYPE SP 9.5 NON WEAR COURSE MIX (3,B)	TON	2,577	\$82.00	\$211,314.00	\$76.00	\$195,852.00	\$79.85	\$205,773.45	\$84.00	\$216,468.00
32	2360.509	TYPE SP 9.5 WEARING COURSE MIX (3,C)	TON	5,183	\$82.00	\$425,006.00	\$81.00	\$419,823.00	\$85.65	\$443,923.95	\$89.50	\$463,878.50
33	2360.618	3" BITUMINOUS DRIVEWAY PAVEMENT	S Y	985	\$50.00	\$49,250.00	\$30.00	\$29,550.00	\$35.50	\$34,967.50	\$37.00	\$36,445.00
34	2502.503	¹ " PERF PE PIPE DRAIN	LF	5,940	\$13.00	\$77,220.00	\$13.00	\$77,220.00	\$12.15	\$72,171.00	\$14.00	\$83,160.00
35	2502.602	CONNECT 4" PVC OR PERF TO STORM SEWER	EACH	33	\$250.00	\$8,250.00	\$400.00	\$13,200.00	\$235.00	\$7,755.00	\$450.00	\$14,850.00
36	2503.503	12" RC PIPE SEWER DES 3006 CL V	LF	346	\$55.00	\$19,030.00	\$85.00	\$29,410.00	\$115.00	\$39,790.00	\$110.00	\$38,060.00
37	2503.503	L5" RC PIPE SEWER DES 3006 CL III	LF	291	\$60.00	\$17,460.00	\$95.00	\$27,645.00	\$122.00	\$35,502.00	\$115.00	\$33,465.00
38	2503.503	18" RC PIPE SEWER DES 3006 CL III	LF	24	\$65.00	\$1,560.00	\$100.00	\$2,400.00	\$165.00	\$3,960.00	\$145.00	\$3,480.00
39	2503.503	21" RC PIPE SEWER DES 3006 CL III	LF	32	\$75.00	\$2,400.00	\$105.00	\$3,360.00	\$175.00	\$5,600.00	\$154.00	\$4,928.00
40	2503.503	24" RC PIPE SEWER DES 3006 CL III	LF	112	\$100.00	\$11,200.00	\$115.00	\$12,880.00	\$160.00	\$17,920.00	\$147.00	\$16,464.00
41	2503.503	27" RC PIPE SEWER DES 3006 CL III	LF	198	\$105.00	\$20,790.00	\$150.00	\$29,700.00	\$190.00	\$37,620.00	\$174.00	\$34,452.00
42	2503.503	30" RC PIPE SEWER DES 3006 CL III	LF	178	\$110.00	\$19,580.00	\$170.00	\$30,260.00	\$210.00	\$37,380.00	\$190.00	\$33,820.00

43	2503 503	33" RC PIPE SEWER DES 3006 CL III	l F	91	\$115.00	\$10,465.00	\$220.00	\$20,020.00	\$260.00	\$23,660.00	\$235.00	\$21,385.00
44		CONNECT TO EXISTING STORM SEWER	EACH	21	\$1,000.00	\$21,000.00	\$1,000.00	\$21,000.00	\$1,090.00	\$22,890.00	\$700.00	\$14,700.00
45	+	IRRIGATION SYSTEM REPAIR	EACH	5	\$6,500.00	\$32,500.00	\$1,000.00	\$5,000.00	\$370.00	\$1,850.00	\$1,400.00	\$7,000.00
46	+	REPLACE GATE VALVE BOLTS	EACH	44	\$2,800.00	\$123,200.00	\$1,700.00	\$74,800.00	\$3,350.00	\$147,400.00	\$2,400.00	\$105,600.00
47	2504.602		EACH	7	\$6,500.00	\$45,500.00	\$7,500.00	\$52,500.00	\$7,100.00	\$49,700.00	\$6,250.00	\$43,750.00
48		ADJUST GATE VALVE	EACH	26	\$330.00	\$8,580.00	\$400.00	\$10,400.00	\$425.00	\$11,050.00	\$275.00	\$7,150.00
49		CONST DRAINAGE STRUCTURE DESIGN SPECIAL	EACH	10	\$3,750.00	\$37,500.00	\$4,000.00	\$40,000.00	\$2,700.00	\$27,000.00	\$2,450.00	\$24,500.00
50	1	CONST DRAINAGE STRUCTURE DES 48-4020	EACH	11	\$4,500.00	\$49,500.00	\$6,000.00	\$66,000.00	\$3,000.00	\$33,000.00	\$3,900.00	\$42,900.00
51		CONST DRAINAGE STRUCTURE DES 72-4020	EACH	14	\$8,500.00	\$119,000.00	\$11,000.00	\$154,000.00	\$8,450.00	\$118,300.00	\$8,600.00	\$120,400.00
52		CONST DRAINAGE STRUCTURE DES 84-4020	EACH	1	\$13,500.00	\$13,500.00	\$17,000.00	\$17,000.00	\$13,750.00	\$13,750.00	\$12,500.00	\$12,500.00
53		CASTING ASSEMBLY R-1642-B	EACH	5	\$800.00	\$4,000.00	\$500.00	\$2,500.00	\$1,155.00	\$5,775.00	\$1,300.00	\$6,500.00
54		CASTING ASSEMBLY R-3067-R	EACH	30	\$1,200.00	\$36,000.00	\$700.00	\$21,000.00	\$1,185.00	\$35,550.00	\$1,375.00	\$41,250.00
55	+	ADJUST FRAME & RING CASTING (SANITARY)	EACH	57	\$750.00	\$42,750.00	\$950.00	\$54,150.00	\$905.00	\$51,585.00	\$750.00	\$42,750.00
56		ADJUST FRAME & RING CASTING (STORM)	EACH	47	\$1,000.00	\$47,000.00	\$950.00	\$44,650.00	\$700.00	\$32,900.00	\$750.00	\$35,250.00
57		REPLACE RINGS & CASTING (STORM CB)	EACH	5	\$1,500.00	\$7,500.00	\$1,000.00	\$5,000.00	\$1,185.00	\$5,925.00	\$1,500.00	\$7,500.00
58		GROUT CATCH BASIN OR MANHOLE	EACH	19	\$300.00	\$5,700.00	\$300.00	\$5,700.00	\$285.00	\$5,415.00	\$400.00	\$7,600.00
59		4" CONCRETE WALK	S F	35,842	\$8.00	\$286,736.00	\$7.00	\$250,894.00	\$9.65	\$345,875.30	\$10.80	\$387,093.60
60	+	6" CONCRETE WALK	S F	14,824	\$11.00	\$163,064.00	\$12.00	\$177,888.00	\$20.65	\$306,115.60	\$22.20	\$329,092.80
61		4" CONCRETE WALK SPECIAL 3 (POETRY)	S F	875	\$20.00	\$17,500.00	\$16.00	\$14,000.00	\$15.85	\$13,868.75	\$18.00	\$15,750.00
62		CONCRETE CURB & GUTTER DESIGN B618 - HAND FORM	I F	1,792	\$36.00	\$64,512.00	\$29.00	\$51,968.00	\$54.70	\$98,022.40	\$55.00	\$98,560.00
63		CONCRETE CURB & GUTTER DESIGN SURMOUNTABLE	I F	1,264	\$18.00	\$22,752.00	\$29.00	\$36,656.00	\$50.95	\$64,400.80	\$52.50	\$66,360.00
64		CONCRETE CURB & GUTTER DESIGN B618	I F	6,615	\$18.00	\$119,070.00	\$29.00	\$191,835.00	\$25.90	\$171,328.50	\$27.00	\$178,605.00
65		CONCRETE MEDIAN	I F	5,442	\$40.00	\$217,680.00	\$40.00	\$217,680.00	\$51.35	\$279,446.70	\$56.00	\$304,752.00
66		6" CONCRETE DRIVEWAY PAVEMENT	S Y	1,617	\$80.00	\$129,360.00	\$80.00	\$129,360.00	\$103.00	\$166,551.00	\$110.00	\$177,870.00
67		8" CONCRETE DRIVEWAY PAVEMENT	S Y	283	\$100.00	\$28,300.00	\$95.00	\$26,885.00	\$135.00	\$38,205.00	\$146.00	\$41,318.00
68		CONCRETE CURB DESIGN V	I F	100	\$48.00	\$4,800.00	\$40.00	\$4,000.00	\$39.10	\$3,910.00	\$48.00	\$4,800.00
69		7" CONCRETE VALLEY GUTTER	S Y	382	\$70.00	\$26,740.00	\$85.00	\$32,470.00	\$158.00	\$60,356.00	\$170.00	\$64,940.00
70		TRUNCATED DOMES	S F	1,084	\$70.00	\$75,880.00	\$50.00	\$54,200.00	\$46.00	\$49,864.00	\$48.00	\$52,032.00
71		RELOCATE MAIL BOX	EACH	9	\$50.00	\$450.00	\$500.00	\$4,500.00	\$250.00	\$2,250.00	\$175.00	\$1,575.00
72		TRAFFIC CONTROL	LS	1	\$40,000.00	\$40,000.00	\$15,000.00	\$15,000.00	\$6,900.00	\$6,900.00	\$7,000.00	\$7,000.00
73	+	SIGN PANELS TYPE C	S F	227	\$64.00	\$14,528.00	\$60.00	\$13,620.00	\$58.15	\$13,200.05	\$60.00	\$13,620.00
74		INSTALL SALVAGED SIGNS	EACH	22	\$200.00	\$4,400.00	\$300.00	\$6,600.00	\$211.50	\$4,653.00	\$225.00	\$4,950.00
75		DECIDUOUS TREE 2.5" CAL B&B	EACH	102	\$600.00	\$61,200.00	\$800.00	\$81,600.00	\$720.00	\$73,440.00		\$76,500.00
76		CLEAN ROOT CUTTING	L F	120	\$7.50	\$900.00	\$15.00	\$1,800.00	\$12.00	\$1,440.00	\$20.00	\$2,400.00
77		PRUNE TREES	HOUR	50	\$250.00	\$12,500.00	\$150.00	\$7,500.00	\$185.00	\$9,250.00	\$175.00	\$8,750.00
78		STORM DRAIN INLET PROTECTION	EACH	137	\$230.00	\$31,510.00	\$200.00	\$27,400.00	\$265.00	\$36,305.00	\$120.00	\$16,440.00
79		SEDIMENT CONTROL LOG TYPE COMPOST	L F	570	\$3.00	\$1,710.00	\$6.00	\$3,420.00	\$5.00	\$2,850.00	\$9.00	\$5,130.00
80		STABILIZED CONSTRUCTION EXIT	EACH	3	\$1,900.00	\$5,700.00	\$1,000.00	\$3,000.00	\$1,450.00	\$4,350.00	\$1,400.00	\$4,200.00
81		ROCK DITCH CHECK	EACH	5	\$150.00	\$750.00	\$500.00	\$2,500.00	\$240.00	\$1,200.00	\$200.00	\$1,000.00
82		SODDING TYPE MINERAL	S Y	10,231	\$12.00	\$122,772.00	\$12.00	\$122,772.00	\$17.90	\$183,134.90	\$21.50	\$219,966.50
83		PAVEMENT MESSAGE MULTI COMP (BIKE LANE)	EACH	72	\$190.00	\$13,680.00	\$180.00	\$12,960.00	\$190.00	\$13,680.00	\$245.00	\$17,640.00
84	+	PAVEMENT MESSAGE MULTI COMP (BIKE BLVD)	EACH	24	\$255.00	\$6,120.00	\$275.00	\$6,600.00	\$291.00	\$6,984.00	\$400.00	\$9,600.00
85		PAVEMENT MESSAGE MULTI COMP (THRU ARROW)	EACH	24	\$775.00	\$18,600.00	\$90.00	\$2,160.00	\$95.00	\$2,280.00	\$100.00	\$2,400.00
86		4" BROKEN LINE MULT COMP (YELLOW)	LF	8,842	\$0.50	\$4,421.00	\$1.50	\$13,263.00	\$1.60	\$14,147.20	\$2.15	\$19,010.30
87		4" SOLID LINE MULTI COMP (WHITE)	LF	15,658	\$1.25	\$19,572.50	\$1.50	\$23,487.00	\$1.60	\$25,052.80	\$2.00	\$31,316.00
88		6" SOLID LINE MULTI-COMPONENT (WHITE)	LF	5,586	\$1.25	\$6,982.50	\$1.70	\$9,496.20	\$1.80	\$10,054.80	\$2.25	\$12,568.50
89		4" DBLE SOLID LINE MULTI COMP (YELLOW)	L F	6,215	\$2.00	\$12,430.00	\$3.00	\$18,645.00	\$3.20	\$19,888.00	\$3.50	\$21,752.50
90	+	CROSSWALK PREF THERMO GR IN (GREEN)	SF	3,200	\$16.00	\$51,200.00	\$14.00	\$44,800.00	\$14.80	\$47,360.00	\$17.50	\$56,000.00
91	+	CROSSWALK MULTI COMP (WHITE)	S F	1,072	\$10.00	\$10,720.00	\$11.00	\$11,792.00	\$11.50	\$12,328.00	\$12.00	\$12,864.00
92	+	PAVEMENT MESSAGE PREFORM THERMOPLASTIC GROUND IN (RAISED CROSSING)	S F	180	\$40.00	\$7,200.00	\$38.00	\$6,840.00	\$40.25	\$7,245.00	\$42.00	\$7,560.00
		The state of the s		100	Ţ 10.00	7.,200.00	₹55.55	75,515.00	7 .0.23	Ţ.,E.3.00	7 .2.00	7.,555.00

135	2574.507 COMMON TOPSOIL BORROW	CY	1,705	\$21.00	\$35,805.00	\$0.01	\$17.05	\$32.00	\$54,560.00	\$33.00	\$56,265.00
137	2506.502 CASTING ASSEMBLY R-3025-R	EACH	1	\$1,200.00	\$1,200.00	\$500.00	\$500.00	\$1,890.00	\$1,890.00	\$1,300.00	\$1,300.00
	Page Bid Totals	Engineer's Estimate		Ims Contracting, LLC.		Heselton Construction		BCM Construction, Inc			
	Base Bid Totals				\$4,205,935.85		\$4,366,500.73 \$4,644,077		,077.57	\$4,870,614.55	

					Engineer's Estimate		Ims Contracting, LLC.		Heselton Construction		BCM Construction, Inc	
Line	Number	Description	Unit	Quantity	Estimated Price	Estimated Total	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
93	2021.501	MOBILIZATION	LS	1	\$69,000.00	\$69,000.00	\$40,000.00	\$40,000.00	\$14,000.00	\$14,000.00	\$6,000.00	\$6,000.00
94	2101.502	CLEARING	EACH	9	\$350.00	\$3,150.00	\$400.00	\$3,600.00	\$415.00	\$3,735.00	\$450.00	\$4,050.00
95	2101.502	GRUBBING	EACH	9	\$250.00	\$2,250.00	\$300.00	\$2,700.00	\$160.00	\$1,440.00	\$175.00	\$1,575.00
96	2104.502	REPLACE VALVE BOX	EACH	3	\$900.00	\$2,700.00	\$800.00	\$2,400.00	\$890.00	\$2,670.00	\$2,150.00	\$6,450.00
97	2104.502	SALVAGE SIGN TYPE C	EACH	1	\$65.00	\$65.00	\$100.00	\$100.00	\$106.00	\$106.00	\$50.00	\$50.00
98	2104.503	SAWING BIT PAVEMENT (FULL DEPTH)	LF	1,827	\$2.50	\$4,567.50	\$0.01	\$18.27	\$2.35	\$4,293.45	\$2.00	\$3,654.00
99	2104.503	REMOVE SEWER PIPE (STORM)	LF	30	\$15.00	\$450.00	\$15.00	\$450.00	\$17.60	\$528.00	\$9.00	\$270.00
100	2104.503	REMOVE CURB & GUTTER	L F	1,339	\$4.00	\$5,356.00	\$6.50	\$8,703.50	\$9.40	\$12,586.60	\$10.00	\$13,390.00
101	2104.503	REMOVE BITUMINOUS TRAIL	SY	290	\$5.00	\$1,450.00	\$6.50	\$1,885.00	\$10.90	\$3,161.00	\$14.00	\$4,060.00
102	2104.504	REMOVE BITUMINOUS PAVEMENT	SY	287	\$7.00	\$2,009.00	\$5.50	\$1,578.50	\$9.20	\$2,640.40	\$9.00	\$2,583.00
103	2104.504	REMOVE BITUMINOUS DRIVEWAY PAVEMENT	SY	327	\$6.00	\$1,962.00	\$5.50	\$1,798.50	\$10.35	\$3,384.45	\$9.00	\$2,943.00
104	2104.518	REMOVE CONCRETE SIDEWALK	S F	1,965	\$1.50	\$2,947.50	\$1.50	\$2,947.50	\$1.40	\$2,751.00	\$1.50	\$2,947.50
105	2105.607	COMMON EXCAVATION (P)	СҮ	299	\$26.00	\$7,774.00	\$25.00	\$7,475.00	\$23.35	\$6,981.65	\$20.00	\$5,980.00
106	2106.507	COMMON EMBANKMENT (CV) (P)	СҮ	5	\$21.00	\$105.00	\$0.01	\$0.05	\$15.75	\$78.75	\$50.00	\$250.00
107	2123.61	STREET SWEEPER (WITH PICKUP BROOM)	HOUR	16	\$150.00	\$2,400.00	\$150.00	\$2,400.00	\$165.00	\$2,640.00	\$190.00	\$3,040.00
108	2130.523	WATER	MGAL	40	\$50.00	\$2,000.00	\$40.00	\$1,600.00	\$44.50	\$1,780.00	\$10.00	\$400.00
109	2211.509	AGGREGATE BASE CLASS 5	TON	452	\$20.00	\$9,040.00	\$30.00	\$13,560.00	\$29.50	\$13,334.00	\$26.00	\$11,752.00
110	2231.604	BITUMINOUS PATCH TYPE SPECIAL 1	SY	327	\$45.00	\$14,715.00	\$45.00	\$14,715.00	\$42.00	\$13,734.00	\$21.50	\$7,030.50
111	2231.604	BITUMINOUS PATCH TYPE SPECIAL 2	SY	671	\$43.00	\$28,853.00	\$85.00	\$57,035.00	\$41.00	\$27,511.00	\$35.00	\$23,485.00
112	2232.504	MILL BITUMINOUS SURFACE (2.0")	SY	12,382	\$1.60	\$19,811.20	\$2.00	\$24,764.00	\$2.10	\$26,002.20	\$2.40	\$29,716.80
113	2357.506	BITUMINOUS MATERIAL FOR TACK COAT	GAL	841	\$2.75	\$2,312.75	\$2.00	\$1,682.00	\$0.01	\$8.41	\$0.05	\$42.05
114	2360.509	TYPE SP 9.5 WEARING COURSE MIX (2,B)	TON	85	\$105.00	\$8,925.00	\$78.00	\$6,630.00	\$82.50	\$7,012.50	\$86.00	\$7,310.00
115	2360.509	TYPE SP 9.5 WEARING COURSE MIX (3,B)	TON	1,777	\$82.00	\$145,714.00	\$76.00	\$135,052.00	\$79.85	\$141,893.45	\$83.00	\$147,491.00
116	2501.502	12" HDPE PIPE APRON	EACH	2	\$400.00	\$800.00	\$1,000.00	\$2,000.00	\$615.00	\$1,230.00	\$300.00	\$600.00
117	2501.502	12" HDPE CULVERT	LF	36	\$50.00	\$1,800.00	\$100.00	\$3,600.00	\$88.50	\$3,186.00	\$140.00	\$5,040.00
118	2504.602	REPLACE GATE VALVE BOLTS	EACH	3	\$2,800.00	\$8,400.00	\$2,000.00	\$6,000.00	\$3,350.00	\$10,050.00	\$2,400.00	\$7,200.00
119	2504.602	ADJUST GATE VALVE	EACH	16	\$330.00	\$5,280.00	\$350.00	\$5,600.00	\$425.00	\$6,800.00	\$400.00	\$6,400.00
120	2506.502	ADJUST FRAME & RING CASTING (SANITARY)	EACH	15	\$750.00	\$11,250.00	\$800.00	\$12,000.00	\$905.00	\$13,575.00	\$750.00	\$11,250.00
121	2506.502	ADJUST FRAME & RING CASTING (STORM)	EACH	18	\$1,000.00	\$18,000.00	\$800.00	\$14,400.00	\$700.00	\$12,600.00	\$750.00	\$13,500.00
122	2506.602	GROUT CATCH BASIN OR MANHOLE	EACH	5	\$300.00	\$1,500.00	\$300.00	\$1,500.00	\$285.00	\$1,425.00	\$400.00	\$2,000.00
123	2521.518	4" CONCRETE WALK	S F	461	\$8.00	\$3,688.00	\$7.00	\$3,227.00	\$13.00	\$5,993.00	\$14.20	\$6,546.20
124	2521.518	6" CONCRETE WALK	S F	1,545	\$11.00	\$16,995.00	\$11.00	\$16,995.00	\$25.25	\$39,011.25	\$27.00	\$41,715.00
125	2531.501	CONCRETE CURB & GUTTER DESIGN B618 - HAND FORM	LF	1,239	\$36.00	\$44,604.00	\$29.00	\$35,931.00	\$54.75	\$67,835.25	\$55.00	\$68,145.00
126	2531.603	CONCRETE CURB DESIGN V	LF	20	\$48.00	\$960.00	\$29.00	\$580.00	\$39.15	\$783.00	\$48.00	\$960.00
127	2531.618	TRUNCATED DOMES	SF	203	\$70.00	\$14,210.00	\$50.00	\$10,150.00	\$46.00	\$9,338.00	\$48.00	\$9,744.00
128	2563.601	TRAFFIC CONTROL	LS	1	\$10,000.00	\$10,000.00	\$5,000.00	\$5,000.00	\$2,115.00	\$2,115.00	\$2,100.00	\$2,100.00
129	2564.602	INSTALL SALVAGED SIGNS	EACH	1	\$200.00	\$200.00	\$300.00	\$300.00	\$315.00	\$315.00	\$350.00	\$350.00
130	2571.502	DECIDUOUS TREE 2.5" CAL B&B	EACH	18	\$600.00	\$10,800.00	\$800.00	\$14,400.00	\$685.00	\$12,330.00	\$725.00	\$13,050.00
131		STORM DRAIN INLET PROTECTION	EACH	25	\$230.00	\$5,750.00	\$200.00	\$5,000.00	\$265.00	\$6,625.00	\$120.00	\$3,000.00
132	2573.503	SEDIMENT CONTROL LOG TYPE COMPOST	LF	100	\$3.00	\$300.00	\$6.00	\$600.00	\$5.00	\$500.00	\$9.00	\$900.00
133		SODDING TYPE MINERAL	S Y	976	\$12.00	\$11,712.00	\$12.00	\$11,712.00	\$25.90	\$25,278.40	\$29.00	\$28,304.00

134	2582.518 CROSSWALK MULTI COMP (WHITE)	SF	90	\$10.00	\$900.00	\$11.00	\$990.00	\$11.50	\$1,035.00	\$37.00	\$3,330.00
136	2574.507 COMMON TOPSOIL BORROW	CY	163	\$21.00	\$3,423.00	\$0.01	\$1.63	\$32.00	\$5,216.00	\$33.00	\$5,379.00
	Altornata #1 Tatala	Engineer's Estimate		Ims Contracting, LLC.		Heselton Construction		BCM Construction, Inc			
	Alternate #1 Totals				\$508,128.95		\$481,080.95		\$517,512.76		983.05

Totals for Project 2023STRT-69 - 2023 Reclamation and Overlay Project	Engineer's Estimate	Ims Contracting, LLC.	Heselton Construction	BCM Construction, Inc
Totals for Project 202551K1-09 - 2025 Recialitation and Overlay Project	\$4,714,064.80	\$4,847,581.68	\$5,161,590.33	\$5,384,597.60